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(1)25¢°y*-1; (2)-Em +Zn ;

(3) (xty)’-4; (4)16(m-n)"-25(m+n)".



B (1) R = (5ay) "= 1= (Say+1) (Sxy-1) ;

L9 e 4y

(2)Bk=(Jn) - (m)

9 4 (9 4
=(2”+3m)(2”‘3m)?

(3) 3= (aty) =27 = (wty+2) (a4y-2);

(4) B’ =[4(m-n) "~ [S(m+n) I
=[4(m=n)+5(m+n) ][4{m-n)=5(mtn) ]

==(9m+n) (m+9n).




F—RZil%

1-1 [BHHHEHER] FH AR

REATHERAE
()

A

A7 ) =

Aa’-4 B.—x+y’

Cax'y’-1  D.-m’-n’
1-2 [RYenE | AR E 0’ - 1=




1=3 [ BN RBZR A

X#K]BEE H—

PEIE, BKIZ BT

THEN)

TRA2%, B8

—IIZ 40’ HFEEKM BT
A=




1-4 ETFI B XEX 0
(1)254-0.49y";
(2)64-p’;
(3)9m’x"~4n’y’;

(4) (3m-1)"-(2m-3)*;

(5)-4(x=2y)"+9(xty)".
(1) R =(50+0.7y) (5x-0.

Ty) ;
(2) B30=(8+p) (8-p);

(3) B3 = (3ma+2ny) (3ma -
2ny) ;

(4)F=[ (3m-1)+(2m-
3) 1L (3m=1)=(2m-3) ] =
(Sm-4) (m+2)
(5)RZU=[3(a+y) +2(a-
2y) 113 (wty) =2(x-2y) ]
=(Sx-y) (x+7y).
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( 1)a3-9a ; (2)4x4—36x2y2,

(3)2(a=b)"-8b"




(1) ExX=a(a’-9)
=a(at+3)(a-3):
(2) B3 =42"(x*-9y")
= 4o (v43y) (-3y) ;
(3)EX =2 (a-b)’-4b"]

=2[ (a-b)+2b][ (a-b)-2b]
=2(a+b) (a-3b).
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A2(a’-4) B.2(a-2)"
C.2(a+2) (a-2) D.2(a+2)°
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(1)2ma’~2ma’; 8. (1) Bzt =2ma’(«~1)= 2ma*(a+1) (a-

(2)m*(a=2)+(2-a);  1);
(3)9%2(a—b)+y2(b—a). (2) B =m’(a-2)-(a-2)

= (a-2) (m’-1)

= (a-2) (m+1) (m~1);
(3) X =94"(a-b) -y’ (a=b)

= (a-b) (9x*-y’)

= (a=b) (3x+y) (3x-y).
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(1)x"=y'; (2)16x"-1.
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(1) 283 (' +)) («') ;
(2) BEI(4x*+1) (4x-1).




. (1) B =2(x"-16)= 2(x*+4) («*-4)
(1)2¢"-32; = 2(x"+4) (x42) (x-2);
(2)16a*-b" (2) B3 = (4a™+") (4a”-b")
= (da’+b*) (2a+b?) (2a-b*)
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